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Part- A /917 — &
MENTAL ABILITY / Wit gvvgar

1. Find the missing set of letters in 1. P ¥ aqufem sl & @ =
YWZX : USVT :: MKNL:? oHfom — .
(A) IGHA ®) 1GIH YWZX : USVT : MKNL: 7
© 161 ©) IGHH ) BHALE P am
o L (© 1G1 (D) IGHH
Ram is 5 times as old as Shyam. If their 2. YW 2 90 @MW & 5 A 7@ 8] W 7
fhf;::::cofagcissycm.mcnhowuld A W 9w & 8 ad @ s & A T A
-“(M o i a1 99 7
w5 I_zymrs .(B) 10 years (A)_ B ﬁ: (B) 10 B
s () Syes © 127t () s ad
3. From the sct of numbers given in four 3. fau o 9w fawed § @ #F W Ry T
a]mrnaﬁvgs,uiﬂchi;mnstsimi!xmlh# = (1, 8, y}iﬁﬂa‘iﬁmmﬁlﬁ?
set (1, 8,27)?
(A) (64.125.216) (B) (5.12.32) (A). (64,125,216 & ©.12,39
4. Which diagram correctly illustrates the 4. TR, @W ver, it ® $E - faE
relationship among: Carrot, Food, wE @ frefa aw @ e
Vegetables?
*“® ™6 “© "
(© ) (©) D
S maoe ) "aDo
5. ‘Cyclone’ is related to ‘Anticyclone’. in 5. ‘gmara d@dfa # ufrmrae 9 9w ven
the same way as “Flood” is related to gtz wafr & = )
oooooooooooooooooooooo T I
Choose the best option - wad Suga e g9 -
(A) Devastation (B) Havoc (A) Taré (B) =T
(C) River (D) Drought (€) =% (D) @
6. Which diagram best illustrates the 6. e, U, FAl @ waw W @ —
relationship among: Pigeons, Birds, Dogs? form wé & forefaa == wer 87
Wy o 0L) o™ ®» OO0
(©) 1ii’ (D) (::)<3 (©) D)
© O
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If = means x, X means - , + means X and
—means +, then2+8x16-4+2="7
(A) 4 (B) 8
(C)y 10 o) 12

Find the missing number in the given
series:

4. 701, TR90,87, . vvvinirennnnmd 23, 199,
(A) 76 ®) 70
(C) 95 D) 105

9. Poles: Magnet :: ?: Battery

Correct analogy for the above is -

(A) Energy
(C) Terminals

(B) Power
(D) Cells

10. Choose the pair in which the words are

differently related from the following -
(A) Broad:Wide (B) Light:Heavy
(C) Tiny: Small (D) Big:large

11. Value of 0,003 x0.021is -
(A) 0.06 (B) 0.006
(C) 0.0006 (D) 0.000060

12. Find the missing number in the matrix?

72 |24 |6
96 [le |12
[108 |? 18

(A) 12 (B) 16
(C) 18 D 20

Directions:(0Q.13-14) Study the following
number line and answer the questions that

follow-
75952359435954593559535
3452535659

9.

10.

11.

12.

IR + BT FereTd x, X T Helo’ —, + P
Hada x R — &7 noee £ 8, ar
2+8x16-4+2="

(A) 4 (B) B

(©) 10 D) 12

fr=r A A ga wEm I R -
AT T B8 08Y, Cssiniiney 123, 199.
(A) 76 ! (B) 70

(©) 95 D) 105

gq‘:ﬂ'lﬂi::?:ﬂ'dﬁ-
SudE & fag wd o € -

(A) & B) froeh

(© === @) e

fre 3 § oTETE TRT @ wWie @ wh
ot —

(A) frege-der  (B) T A

(C) &Y : v D) w1 fama
0.003 x 0.02FT 51 & —

(A) 0.06 (B) 0.006

(C) 0.0006 (D) 0.000060

P gaam e g’
[72 1234 |6
[96 16 [12
108 |? 18

(A) 12 (B) 16

(C) 18 (D) 20
AFmfz13-14) B= Ry 31 B wW ]
T @ ST E -

759523594359545935595
3594525356589

Raj t eachers.in

13. How many times do the two consecutive 13, TS TR & TR 3 g W F = A
numbers have a difference of 2?7 2 T IR B
(A) 5 ®) 7 W .5 ®) 7
() 9 (D) 8 i 9 D 8
[EETYTEC-ZD][Series-B] Page 3 of 32
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16.

17.

18.

19.

How many times is 58" followed by Q%9
Hut an such pains, "2 should not come
bt '8

A R m 4

Wwy s m 6

The next term in the serics is-
Bl B-OR B s
LAY 9 Mm 20
« »n (D) 34
Find the odd one out -

DS T
A 1 m 2
€3 o 4

It 378 coins consist of | rupee, 50 paise
and 25 paise coins, whose values arc in
the ratio 13:11:7, then number of 50 paise
cains will be -
(A) 136 | 133
132 (D) 128

In a cermain code, STYLE is wrillen as
UVZIC and BLUNT s wnllen as
DNVLR How is MOULD written in that
code?

(A) OQVIB {B) KMVNT
(C) OQSNF (D) KMTNF

Mike stans from his home and dnves
10 miles towards west. Then tums to his
nght and dnves 10 miles and then lums 1o
his left and dnives 5 miles again tuming to
his left, he dnves for 10 miles. Finally, he
turns left and dnves 15 miles. What is the
shonest distance of his presemt location
from his home?

(A) O miles (B) 50 miles

(C) 30 miles (D) 15 miles

14,

18,

16.

17.

19.

The average age of Divya and Daksh is 22 20.

years. If Surbhi’s age is added to it, then
the average of their ages becomes 28

e wie st W W o7 M 27 U

oY A s W uEd 3 e I mfRy-

\) 1 l"] g
() 5 m 6
Aol an anrar ofw #-
R 22,8, 28, B ooveenininns
(A) 9 By 29
o 1 m M
arfm @y W -
1 2 3 3
] =] el Wi
(A) | m 2
€ 3 () 4
afy a7e Rrael ¥ ow A, so MR w25
N & fims B, Rrd ye @ AU
13117 B, o 50 0 @ Rww! W wwEw
i -
(A} 136 m 133
() 132 (D) 128

faht e A, sTYLE ® LvzC fear amm @
Td BLUNT T DNVLR foren orn &1 9@
aE § MouLD $ feran mem?

(A) OQVIB (B) KMVNT
(C) OQSNF (D) KMTNF
wéE g we A Az ok 10 fra uftaw

@ e wAl R ol ww g oaw

10 N Ta R AR ad 48 wv 5 A ua

T e @ A gz T 10 A @) am A

T aA AR gEa @ AR 15 A gem 2

TG AP W A IWE W fhan gh

&
(A) o dra (B) so Wi
(C) 30 A1 (D) 15 A7

2. In an examination, Raj got more marks

than Mukesh, but not us many as Priya.
Priya pot more marks than Gourav and
Kavita, Guuray  got less marks  than
Mubkesh, but his marks are nol the lowest
in the group ol live. Who is the second in
the descending order of marks?

(A) Priya

(B) Kavita

(C) Ry

(D) Cannot be determined

22. Introducing n boy, a girl said, ‘He is the

son of the daughter of the father of my
maternal uncle’. What is the relation
between the girl and the boy?

(A) Niece = Uncle

() Sisler — Brother
(C) Aunt = Nephew
(N Sister-in-law and Rrother-in- law

23. Which of the following is not related to

the others?
(A) Hamp (B) Guitar
(C) Flute (I Vielin

24, Among five friends, A is heavier than B & |

D. Cis lighter than D. B is lighter than D
but heavier than E. Who among them is

the heaviest?
(A) B B C
(Cy D m A

mother of B. D is father of C. E is the
mother of D. A is related to D as -

21,

21.

A is sister of B, F is daughter of G. C s 25,

s uden A wror wd s D varar dw AA,
g fom R wdl ) fame wy s G
B e L TR G o R
W Al Uy By, URE] O A vte) A
@ an 0 0 ) A @ arawen A
FIN vert O w87

(W fam

(my  wfaar

(C)

(D) e I

v wgd @ Uity ovd K U@ S

el me M oaon o fash @ FsE @
qew B T g d@=e 4 am vaw @7

(A) wefrEh — =

B) afesr — wrd

(C) arfl — awfian

() ardl — Siran

= A A T A @ i T8 &2
(A) dten By fier

(C) (D) T

dfa a7 A B3R D @ gE A W21
c.p # qaT # g6 €| B, D F I F
geF & afda E @ W 2 W waw Wl
Cas i

(A) B m C

(C) D Mm A

ABF TRA R EGHA TN E1C.B A
arn | D, CH R &1 E DA WAl #1 A
FD W AT E -

{A) Grand daughter (A) odt
(B) Daughter By ¥
(C) Daughter-in-law © =F-T
m Sister (D afzs :
26. Find the odd one oul from the following - 26, = & & 3@ I ¥ ffa -
(A) Island (R) Coaxt (A) EM (B)
(C) Peninsula (D) Oasis (C) l]'l'-!l'gﬁ'l (D) F@rEEEA
Page 5 of 32

years. What is Surbhi’s age? 71 99 a1 Brfi?
(A) 37 years (B) 3R years (A) 37ad (B) 38 f
(C) 39 years (D} 40 years (C) 3sad (D) 40 o
[EETYTEC-ZOIISeries-B] Page 4 of 32 -
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27.

Find the odd one out —

27. e % % amrTa @ T A~
(A) Clove (B) Cinnamon (A) M (B) T
(C) Pepper (D) Apricot © wrh e ) [ar
28. In a certain code language, BAT is coded 28. faeh zg Wi # BAT & 23 forl it &
as 23, then how will CAT be written in the & s e s A cat @ @
same code language? W
w2 @ 2 (A) 22 B) 23
) 24 m 25 (C) 24 o 25
29. There are deer and peacocks in a zoo. By 29. T& fif¥ary # fixwr ol @R &1 o R
counting heads, they are 80. The number £ At g0 &) 99 O W A 200 2l
of their legs is 200. How many peacocks farey A &7
are there?
(A) 20 (B) 30 (A) 20 (B) 30
(C) 50 (D) 60 (€C) 50 (D) 60
30. Gunjan spends 75% of his salary and 30. wmmmvsuﬁmmimt.
saves ¥1500/- per month. His monthly T 1500 ¢ WiAEE AT | S WS
salary is - Eoe -
(A) 5,000 (B) T5.500 (A) 5,000% (B) 55002
(C) T5.900 (D) 6,000 (C) 5.900% (D) 60002
31. The next digit in the series is - 31 o @ ¥ e ¥F A -
2,5,9,19,37.7 2,5.9,19,37,1
(A) 75 (B) 78 (A) 75 (B) 78
(C) B0 (D) 73 (C) 80 (Dy 73
32. Fill in the blank - 32, froe wITA T -
SCD. TEF, UGH, .......WKL SCD. TEF, UGH, .......WKL
(A) CMN (B) ull (A) CMN (B) ull
(C) VU (D) UT () VU (D) UT
33, If Monday falls on the 1" of October, 33. ofy gedl aaEay W WHAR UEAr B, o 99
which day will fall three days after the 78S A & arfe & &9 RF ag 3 W
20 in that month? IR TEM? '
(A) Monday (B) Tuesday (A) Trmar (B) WTER
(C) Wednesday (D) Sunday (C) TR (D) <fEEr
Page 6 of 32
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Directions (().34-36): Read the following
passage and answer the questions that
lollow -

In a survey regarding a proposed measure
to be introduced, 2878 persons took part
of which 1652 were males, 1226 persons
voted against the proposal of which 796
were males. 1425 persons voted for the
proposal, 196 females were undecided.

A (z 34-35) : Prefafas wata B
T Y Ry e wEl & oo & —

F gEia e & S wiew A7 2878
= A wer far e 1652 ST o 1226
it 3 fRmE & faars wa et el 9
796 aTEA & | 1425 F F s wA fEAE
% foa & Ran| 106 sid gt & off)

34. How many females were not in favour of 34. et ofed wee & fea o =81 417
the proposal?
(A) 430 (B) 496 (A) 430 (B) 498
(C) 586 (D) 1226 (C) 586 (D) 1226
35. How many males were undecided? 35, faery s gfden § &7
(A) 31 (B) 227 (A) 31 (By 227
(C) 426 (D) 581 (C) az28 (D) 581
16, How many females voted for the 36. f¥ef afiwai A fargs & fea & = RRa?
proposal?
(A) 430 (B) 600 (A) 420 (B) 600
(C) 624 (D) 640 (C) 624 (D) 640
37, Observe the given patern and find the 37. Ry MY WREME &1 e 3 5K En R
missing number - &F IO —
g 10 12 8 10 12
3 7 5 3 1 5
148 |80 [120 18 [80 |120
) 2 '(B) 3 (A 2 ® 3
(c) 4 o 5 (c 4 D 5
38, What will be the probability of getting an 38, U& TTH T IHTEY W TH TS H FH B
even number in tossing a dice? wTiTear 4T 27
(A) 1/4 (B) 176 (A) 113 B 156
() 113 m 12 (C) 13 o) 12
39, If four dozen of oranges cost T 160, then  39. aft 4 o9 wad # Wva 160 € L W 3
what is the cost of three oranges? o & are feaet e
(A) 8 (A) 82
(B) 9 (B) 8%
() Tl ) nt
(D) None of these (D) TR B A
[EE‘I‘\"‘I'EC-ZO][Series-B] Page 7 of 32
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40. The calendar for 1990 is the same as for - 40. W 1800 @1 wAwT fT WY @ T &7

41.

42.

(A) 1997 B)
(C) 2000 (D)

2001

1596

‘Dog’ is related 1o ‘Kennel’, in the same
way as ‘Bird" is related 10

Choose the best option -
(A) Pen (B) Chip

In the given diagram below, circle
fepresents strong men, square represents
tall men. triangle represents army officers.

Which region represents army officers
who are tall but not strong?

>
3

Ay 1 (B) 3
) 4 () 2

(A) 1997 (B) 2001
(C) 2000 (D) 1996
41, ‘aﬁrrﬁtﬁzatzw—ufﬂ.mm
sy WAt o W
v Suga Rew g1 -
(A) TFEH (B) ®od
(C) o= (D) o

Ay 4 rE argfa ¥, ga aoven & wfeTe
qew, a7 warn & IR ey, P ama @
AT sRed | PH-w o3 A afEd
warr &, W 9 & W i Té 87

AR

L]

Ay 1 ;) 3

(C) 4 o 2

43. Which of the following is different from 43. fraifra argfa) § A #4 Iw & = 2

the other figures?
(A) @ (B) f
I Rl ==

(A) @ (B)

© A )

/\

44. Deepak is the brother of Ravi. Rekha is 44. <mum ¥ o7 = &) Y@ amga o W= 2

the sister of Atul. Ravi is the son of
Rekha. Then how is Deepak related to
Rekha?

A YEr g B A dvw w Y @ qn
way 87 ;

(A) Son (A) 7=

{B) Brother (B) w3

(C) Nephew © when

i lesesy e D) T F P 8
[EETYTEC-20][Series-B] PageBof32

45,

47.

49.

50.

In a certain code language, 45,
(i) ‘pit na som’ means ‘bring me
walter’
(1) ‘na jo tod' means “water 1s life’
(iii)  ‘tub od pit" means ‘give me toy"
(iv)  ‘jolin kat' means 'life and death’
Which of the following represents 'is’ in
that language?
(A) Jo (B) na
(C) 1od (D lin

Simple interest on 73,600 at 7.5% per 46.
annum for 2 years 4 months is -

(A) T605

(B) 610

(C) 620

(D) None of these

A goods train runs at a speed of 47.
72km/hr and crosses a 250m long platform

in 26 seconds. What is the length of the

goods train?
(A) 240m (B) 250m
(C) 270m (D) 300m

Nitin ranks (8" in a class of 49 swdents. 48.

What is his rank from the last?

(A) 31 ®) 18
(C) 32 m 19

Find the c-&d one out = 49.
(A) Crusade (B) Campaign

(C) Expedition (D) Cruise

Which of the following is the smallest 50.

number?
{A) 15/16 (B) 16/6
(C) 78 (Dy 11712

o faftoa 9 M H

(i) ‘pt na som’ T ed & ‘bring me
water”

Gy ‘najotod’ T 3t € ‘wateris life’

i) b od pit @ 3 ¥ *give me toy’

(iv)  “jolin kar' &7 3 & ‘life and death’

SRYaa 9T H Cis' e gt @ 87

(A) Jo (B) na

(C) twod (D) lin

3600 T W 7.5 Sfeww wfiE =W W@ W 2
ad 4 T8 T WHWE WA BN —

{A) 605%

(B) 610%

(C) 620¢

(D) 5% § o 78

@ wemd 72 frd wf w@ @ wER |
o 78 & 3 @ 250 M T @ WEHH
71 26 VoW A OR T SN &, A WA

N o et B )
(A) 240 (B) 250 ¥
(C) 270 & (D} 300 W

49 BT A T § O 18 & W R R
IOET YUY | $F 6 A e

(A) 31 (B) 18

(cy 22 (D 19
FET E IE Ay —

(A) wigE B) fmaE
(© TR A (D) TR wde

T | e O &% e W

(A) 15116 B) 166
© 8 o 112

[EETYTEC-20][Series-B]
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- Part-B / am—3
NERAL AWARENESS OF RAJASTHAN / o &) W sAaTd

§6. The period of which ruler of Kota, is Sﬁ%ﬂ @ frw e @ T W, e W

el Tepe GRS C )
supposed to be the excellent period for the @ fir m . :

51. The rulers of which . : ?
s ch dynasty ruled over 51, /& FaTEH T TwEd ® 1A 1@ Kota School of Painting? #m S
u i U . . 3 "
P e ,; C"}" Chandrawati 1281 wrenfeEdt ¥ few dw @ WTES F WA (A) Maharao Shatru Sal Singh I (B) wWewra i faw
nd 12* centuries? <ET? (B) Maharao Kishor Singh (C) WETE TEEA fire 11
(A) Gunara - Pratihara (C) Maharao Shatru Sal Singh I1 (D) ¥eEwa IEE fiE |
(B) Parmars of Aby (A) TR - wRER (D) Maharao Ummed Singh | 51// P
g (B) 1q 3 TR 7. Maharaja Sawai Jai Singh of Jaipur built R @ wERTn ward wfie A @ e
uhans of Sambhar © @ the observatorics at which places? qr Aumesi @1 Pt s ar?
(D) Guhil - Sisodia R B e (Select the right group) (@ wgE T 9T W)
. D) Tfeat — forifemn (A) Jaipur, Varanasi, Ujjain, (A) FagE. AR, T, FAETdS,
52.  Kshetrapal, an important aspect of culture 52 &=urE, oA B AR T CE W Allahabad, Patna e
of Rajasthan, is worshiped as - T, ol T & — (B) ;zl:;.:r. Va;:r;ﬁi. Ujjain, (B) SRR, AN, I, W, feechl
(A) A village deity (A) um Zaer & ¥9 ¥ (©) gmb::ni;undi‘rklhi (C) sy, ¥4 fawh oA
(B) A village officer B) A sfETh @ v A Allahabad, Ahmedabad e 11
(C) Anancestor (C) & @@w & vy § (o) :;il[::lar. Ujjain, Mathura, Jhansi, (D) TR, SwAA, WG, HR, G
(D) A saint D) TS T & w9 F 58, How many members are elected in the 58\ medm wag # worem ¥ R wEw A
3. Which of the following musical # % wen aro—a, m Ag T Indian Parliament from Rajasthan? &2
instrument, is not a chordophone # ' (A) 20 ®) 25 (A) 20 ®) 25
instrument? 1
(A) Alghoza (B) Kamayacha (A) ST (B) wTHTOE (C) 40 (D 35 (C) 40 (D) 35
C) I ; : 3 >
; ,’ 'n.m:.r i i UKy Wi (D) T S 59, Where was the center of Revolt of 1857 in sswmﬁ # 1es7 ® T T B A T
54.  Which is the smallest district of Rajasthan TREE # dAna @ gfe ¥ waw o Rajasthan? (A) waR
as per area? foren @ &2 (A) Jaipur (B) FETR
(A) Dholpur (B) Jaisalmer TR
o ’ (A) e (C) Sri Ganganagar ©
(B) Bharatpur B) R (D) Nasirabad (D) THRER
C) Karauli : IR
il (© TS 60. Which of the following is the corect pair  60)/ e # wrél # et arch "
(D) Sawai Madhopur ST of rivers of Rajasthan falling in the Bay of Afeal o w8 g PrE A A w5 a e
. e apex academic organization for e A e e a@mms A Qo= (A) Kalisindh and Jawai (B) =& TF grE!
educational planning, implementation and fAator, fFaram @ gmrew @ faw water (B) Mahi and Parvati (© T
evaluation for school and teacher HMorE wen ¢ - (C) Luni and Chambal (D) wrenterg sl T
education in Rajasthan is - (A). M T W, € aw @ (D) Kalisindh and Gambhiri
(A) RSCERT, Udaipur e £ 4 g o 61. Falku Bai is associated with - ey, aE Wl 2 -
(B) 1ASE, Bikaner Sk (A) Bhavai Dance (A) = TR
. o ©) & ot § A (), wap (B) Chari Dance ®) =@ F=#
(C) DIET, Jaipur (D) 3m. amé ¥, arory {C) Kalbelia Dance (C) mﬂﬁl kil
(0 RIE, Ajmer i (D) Terah Taali Dance (D) eREawEl F@ 4
Page 11 0f 32
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62,

Where are “Kitti Stambh™ and “Vijay
Stambh” situated?

62\ e R e R R 87

Who is credited 1o popularise  the 69:\/4‘31117'{ @ oM ds FArErl i gem

-

b ke

69.
- : ; Manganiyar and Langa folk artists? T w1 A s R omn 87
IEITanmh (B) Rajgarh (A) fPrtsm (B) WY (A) Komal Kothari (A) v T
odh y
P - pur (D) Barmer (©) R (D) TER (B) Devi Lal Samar (B) S TR
- To which place, martyr Bhil girl Kali Bai 63V wéig e afram wreard, P 8 & R (C) Col. James Tod (€) T4a v I
was associated?
- 1 E R wag o? (D) Kripal Singh Shekhawat ) T e fraEmEa
astapa (B) Sagwara - TR
6 Bt ® o okl A) I (B) wrTarst 70. Which folk deity's wife became Sati after 70, @ @i dar 0 g 7 @ A=
Fi Ry a (C) fadrare (D) "INTEST the death of her husband? wh B
3 a ;
ssdt sex ratio of women, as 64, IRy ¥ af 2011 N FAPTA B AFAR, (A) Mallinath (B) Harbuji (A) FeAATE ® wET
com i ; :
: wu,“m men in Rajasthan, 1000 g} @ yewa ¥, fEdt @ W a (C) Tejaji (D) Devji (C) T D) TR
according to the Census of 20117 : I q A S
5 5 & s o e 27 ' 71.  Which of the following crop of Rajasthan TI.WH‘FI # fr= 7 AT W
oy B s g (A) 921 (B) 928 does not benefit from *Mavath'? ¥ grnfan = dd 22
| C) 955 () 917 (A) Wheat (B) Gram (A) o
" diunctl::;;f;m‘ is spread in which 65/ %2 &1 ToR o & fr el # b (C) Mustard (D) Cotton (C) wwE (D) FurH
.1
: 5 g 27 .
(A) Udaipur, Rajsamand (A) STAR. IS 72. Whenis the song *Jala’ sung by women? T):\ st P fead grn & T i &7
:’; E:‘:;‘::p’:r[::f;::h (B) drmarE, YR (A) Al the time of well worship A) E T B T
(D) Chittorgarh, Udaipur :g; R, WIS (B) (EJEN_:;:;?“M“ of Jal Jhulani (B) SEEA (@R & IR W
66. Which of the following pairs of districts 66,  S=ToET 201.1 & AR WORUT @ (C) On visiling the bridegroom’s (C) T I F T EEA W W
has lowest literacy rate as per 2011 Preafafae % ¥ 5 Bl | T wedding place D) T AT FTE W
Census in Rajasthan? T W R A7 W o X (D) On the occasion of Teej worship

(A) Sirohi and Pratapgarh A Rty : 23, One of the famous atiractions for tourists Tj.//m &1 AveE ww wdeat © g

(B) R R dimarer
(C) ek ok R
(D) W R e

67. Which city is situated ar the bank of river 67%“1? A& B B T TR I @ 22

(B) Jalore and Banswara
(C) Jalore and Sirohi
(D) Jalore and Pratapgarh

in Rajasthan is Mandawa town, which is SR P g
famous for -
(A) Military Museum

(B) A group of temples

(A) ¥ wmeeg @ g
(B) Wi FqF & fag

Ghaggar? (C) Royal Palaces (€) wrommamR F fag
(A) Hanumangarh (B) Ramgarh (A) &HTE (B) g (D) Painted Havelis and Murals (D) fm g&ﬁnﬁ q:ﬁﬁrﬁqﬁ'ﬁ‘i aﬁ:q
(C) Ajmer (D) Jaipur C) @R ©) R 4 74, The famous painter Baldeo, who painted 1’\/‘#&'&'@ = agfeer uregfafa & fafa

68. Which district of Rajasthan has highest 68/ 2011 @@ 5=/ & FTEAR TR & fr the manuscript of Sheikh Saadi ki T N | TregETl B fora

literacy rate according to Census 20117

R 9 watfrs e iz & Gulistan’, I.'-el.ongcd :0 which style of R} wala o
(A) Jaipur (B) Kota A) TR ® o painting of Rajputana: (A) & (B) IR
g lwar
: (A) Bundi B A 3 D) YT
k. 3 (C) =32 (D)
153, B @) Alwar (C) Hraw (D) (C) Deogarh (1) Kishangarh
(EETYTEC-20) [Series-B] Page 12 of 32 [EETYTEC—.Z[)“SeriES-B] Page 13 of 32
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5. Who is the autho
r of * . -
Liitati®s of "Bhartiya Prachin 75 /e st feriwmrar @ @@ a1 ¥
(A) Gaurishankar Hirachand Ojha (A) - o
(B) Bishweshwar Nath Reu @) fivdrsw T W&
(C) Ramkaran Asopa (C) <yt ST
(D) Muni Jinvijay (D) 7
76, “Jhamarkotra Mines® s famous for - 2 “HERTIEIT e
(A) Lead-Zinc (A mw @ &-
(B) Rock Phosphate } prisdio
- . (B) Jr-ghpe @ fag
a5 i (C) dewse @ o
77. The author of Rankhar is — 77 'T{:;'IT ?E:m
(A) Nand Bhardwaj . A -$ =
(B) Malchand Tiwari s = fyard
(C) Jitendra Kumar Soni - '
C) fode
(D) Madhu Acharya *Ashawadi* [D) IR
_ (D} Frard A
78. Which was the last Princely State of 73\/ i
Raj poe s Lo IEEE @ Hfem Rarad #F @ of, R
P“I tana, £ subjugation of East fafewr 3
- e Pem s B b B
(A) - Kota = ) rar faar
) Udaipur (A) ®rer
79.  Out of the following which one is =
notthe 79, fr 39 oy fora®ar w1 Sem
example of folk - painting? TE B2 = m
(A) Phad A) we
(B) Bani - Thani (B) woft — af
(C) Pathwan (C) wrm@mrd
(D) Sanjhi (D) ==
80. Who was the fi b
s B e first excavator of 80. FIAEAM B WU IREFTIG FT ur?
(A) S.R Rao (A) O wa
(B) A.Ghosh (B) v dm
(C) B.K Thapar (c
) @F unw
(D) R.C. Agarwal e Earc
Bl. Where is Darmah Wildlife Sancluary 81 Z{;TDE) mm.mm‘m
situated? . i
(A) Ajmer (B) Kota (A) Ay (B) a,ﬁ,
(C) Dholpur (D) Jodhpur (C) R (D) ity
[EETYTEC-20][Series-B] Page 14 of 32 e

82, With which of the following dances,
musical instrument Jhanjh is used?
(A) Kachchhi Ghodi dance

(B) Bomb dance
{C) Terah Taali dance
(D) Gavari dance

83. In which district of Rajasthan, the famous ~ 83.
Amar Sagar Jain Temple is situated?

(A) Bammer (B) Jaisalmer
(C) Jodhpur (D) Pali
84. The Secretary of Gram Panchayat is - B4,
(A) Pawarn
(B) Sarpanch

(C) Up - Sarpanch
(D)  Gram Sewak
85. Who is the Chairman of West Zone 85.
Cultural Center, Udaipur?
(A) Govemor of Rajasthan
{B) Chief Minister of Rajasthan
(C) Tourism Minister of Rajasthan
(D) Divisional Commissioner of
Udaipur
86. The boundary of Rajasthan touches how B6.
many state boundaries?
(A) 5 (B) 6
(C) 4 () 3
87. Which two districts of Rajasthan have 87.
population density more than 500 persons
per square kilometre?
(As per census 2011)
(A) Jaipur, Dausa
(B) Jaipur. Bharatpur
(C) Jaipur, Alwar
(D) Jaipur, Banswara

88. Which dynasties were ruling in Delhi
during the reign of Maharana Kumbha?
(A) Slave - Khilji Dynastics

(B) Tughlagq - Sayyid Dynasties
(C) Sayyid- Lodi Dynasties
(M Lodi- Mughal Dynasties

mmwmnﬁmam%fam
forar % amfiea &7

g2.\ efefa & @ R 7 & W W
o ara @3 1 v R w82

(A) T O I

@B) T T3
(C) a<EaTel T

(D) T TA

(A) AR (B) e

(C) TR (D) Ut
I qETge & atad g E -

(A) HEEAr
(B) ¥O™

Wﬂmmﬁmaﬁm%l
fyerch 87

(A) S (B) &

(C) 4 (D) 3

TaEE @ & o o fodl § Aeeed e
s00 @hm w at A oA sfw 2
(=TT 2011 @ SFIER)

(A) =g, S

(B) TOgL "aOE

(C) wugy ¥Faw

(D) waqr, araarst

§8. wERwW T B AEA T A e e

# far roET & A W
(A) =ra - faasl an
(B) TrEd — AuT A
() #az — /A A
(D) =N — g I

—_
(EETYTEC-20] [Series-B]
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89.  Famous tourist place ‘Samode Palace* is g9, vftre wies w@ MG e IO M
situated in which districq of Rajasthan? fra fad o Rua &7
(C) Bharatpur (D) Tonk [4Ed
o _ (C) R (D)
b R:-mlh 1S approximate percentage  of 90, ISR I AET WRG @ SFEA % R
Jasthan’s surface area to the surface wfaa ‘
; s @ T 87 A
arca of India?
(A) 1% B) &% i, S ®
© 15% D) 5% (C) 15% (D) 5%
91, Wch of the following districts of 91 Prafafag 4 A worem & f¥a ﬁ'ﬁ? @
Rajasthan  has  shortest international :
Senired : sty o wesy o) @2
(A) Jaisalmer (B) Bikaner (A) TTHER (B) PR
(C) Barmer (D) Ganganagar (C) asR (D) TR
92. When was “Rajasthan Housin i T wad amgTgEnsi
: g Board" 92, o »
established to cater the housing needs in ‘fm?:m AT AUSH” BRI i %ﬂg
the State? TE? T
{A) 08 March, 2008 (A) o8 wrd '
(B) 24 February, 1970 B) mms
(C) 31 July, 1997 S Bl
(D) 02 October, 1986 :g; z,:, B, o
. ‘ 3AAT. 1986
93.  Mauch the List — I 1o List — 1 and choose 93, T — 1 - 0N g it ik
the correct answer from the codes given qw @ M Ry 1y @ wA
below the lists — 977 Fifrg M ) A
List - I (Author) List — I1 (Book) : !
-1 @) - 0 ()
I Kamidaan a. Ajitodaya s
I FET sifareg
1I.  Daulat b. Kanhadade &
Vijay o A . & fasa b e way
IlI. Padmanabh c¢. Khuman Raso I 93wy et
i c. JgEm
IV. Jagjivan d.  Suraj Prukash ~
2 IV. orsfted g d. = wary
Code -
I oomoroav a:‘fh[ nom
v
A) d g
(A) < 2 (A) d c b a
(B) b d ¢ M) b a d ¢
(C) a b ¢ d (Cy a b e d
(D) d a b ¢ (MM d a b ¢
[EETYTEC-20][Series-B] Page 16 of 32
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94

95.

96.

97'

Y8.

99.

100,

The

founder  of the  Siroln Rajya
Prajamandal was -
(A) Kanhaiya Lal Mittal
()
()
am

The maximum number of members in the

Bhupendranath Trivedi
Gokul Bhai Bhau
Mitha Lal Vyas

Council of Ministers in Rajasthan can be -
{.\1 25 (B) 30
() 35 () 40

Which par
inhabited by Bhil Tribe?
(A)
(B
(C)
(D)

of the Swte is chielly

Northern part
Eastern part

Southern part
Western part

Among the cash crops in Rajasthan, the

*Nerma' type is related Lo -

(A) Sugarcane () Cotton

() Jojoba

(C) Tobacco

Rajputana Madhya Bharat Sabha was
founded in which year?

(A) 1919 (B) 1924

(C) 1905 (D) None of these
Who among the following was not a ruler
of the Jodhpur State?

(A) Jaswant Singh

(B) Ajit Singh

(C) Anoop Singh

(D) Mota Raja Udai Singh

In which Assembly Election, the strength

of Rajasthan Legislative Assembly wa_-.l’

raised from 184 10 2007
(A) Fourth (1) Fifth
(C) Sixth () Seventh

feraid) arou USINTTSS @ U ol —
(A) wtarare fea

)y oprm e faad

(C) MEmaA Wié HE

(D) AreTeTa Ty
95, yowar § AfanfuE o weed) @ e
wEn gl i
(A) 25 (B) 30
(C) 35 (D) 40
96. e wEenfa wew @ W W A e
forara @l 87
(A) T=Td WA
(B) qdf W A
(C) =fah am A
(D) Gf¥wdf =rT 8
97. wowwr R amiie wwen ¥ "@r fee
A TR & -
(A) =T & (B) urE |
(C) T A (D) AT |
98, TR WU HRE WH @ = ¥7 g3/
(A) 1919 ® 1924
(Cy 1903 M 3797 & 58
99, f[r=fafaa & @ oW GUR 99 F TES
el ar?
(A) wHad [He
(B) o fae
(C) @ fE

(D) wre wow 95y e
100. B farmen gam # o R

# W W 184 § TSTET 200 I TE?
(B) digdl

Araat

(A) e

(C)y o= (D)

[EETYTEC-20](Scries-B]
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Part-C / 9r1—%

TEACHING APTITUDE / fimor sffsael

101. The reason for under developed speech 101,
and language is -
(A) Deafness after the knowledge
of language
(B) Lack of proper training

(C) Deafness since binth

(D)) Deafpess
birth

after sometime of

102. According to vou. ‘In-Service Teacher 102, 3M9a FATER, Hara fim®

Training Programme is a good way of
onentation’. This statement is -

103. In the development of a student. which 103. wraw @& frem & frefafag A & Reaar

(A) Uncermain (B) False

(C) True (D} Partially
True

one of the following contributes

maximum?

(A) A good school

(B) Textbooks

(C) Ruch parents
(D)  Eligible and dedicated teachers

104. A 1eacher should have which kind of 104. T& Rues @ m'ﬂgﬁﬁh’f & 9 fea

attitude with his colleagues?

(A) Negative (B) Critical
(C) Cooperative (D) Creative
105. Main function of a teacher is - 105.

(A) Complete the syllabus on time

(B) Giving effective teaching to the
students

(C) Guiding the students

(D) Parual behaviour
students

with  the

ﬂwﬁummmﬂm‘ﬁﬁmﬁ_

(A) W s @ T TEw

(B) ofta wfterer B T

(C) w4 | T

(D) W= & FO TG TR TET

e @ ot 9 &) UE AT 8 —
(A) ff¥ee (B) 3\d
(€) & ) e I

IfrEas ArreT @ 87
(A) o @ &1

(B) USUYEEH B,
(€) mw—ﬁm’;?
(D) za’rmqmﬁa;mmﬁiﬂ

YER A Ry B TR

(A) ToREE | (B) NSGASE
(C) HEUFTIHE (D) TEATE
W AE & -

(A) ureTEd 39a R f FHEE

®) B @ wrd A T

(C) vl w1 arfeea o

(D) Ol & W gy @R weAr

106. According to you, how should be the ma\};rt?d% AATIAR, Fe1 w0 $1 8 wifee?

class communication?
Moderate

Effective

(A) Difficult (B)
(C) Interesting (D)

{A) @fdq
(C) Vra®

(B) wEFn
(D) ward

[EETYTEC-20][Series-B) Page 18 of 32

107. @ @ amgE gearsa 2 g i

107. What is the main characteristics of
Continuous  and  Comprehensive 2? .
evaluation? (A) o9 Rafidl = TR dd ¥
(A) llu:incrcases the work load on B) uE P & wEw o S e
students,
w8
(B) It evaluates every aspect of the (©) uE e W = 77 &7 § WEAs
student.
(C) It helps in reducing examination 4l
phobia. (D) uE sE B AT F @S T
(D) Itreplaces marks with grades, &
108. Students follow that teacher of the 108, B3 Rura & 0 FATD 3 Haw .
i
school - . i
(A) T 9@ oRTl & WA
(A) Who is according to their ideals ® <t _—
{B) o is not partial © R o2 B J——
{C) Whom they liked 1o meet . @ & o - .
(D) Whois attractive Lookingwise _
109. The teacher should have command on 109. =& @ sma wd A fFAgd A anet
his work so that - T — )
{A) Students will obtain knowledge (A) ©TF RmeE § o7 o F FD |
from the teacher. ; -
(B) Students will be under control. (B) ©m=E g | ?‘%‘-I’II
(C) Shludcnl:1 will go for tuition to (©) T fme & TE T ge AT |
the teacher. )
(D) Students will get proper (D) uTE o7 ot Bdws RmEm)
guidance.
110. The child learns the primary lesson of 110. STREMES ;ﬁr HET T TRwS e qae
TRl m —
responsibility from — ' 3
' (A) Home  (B) School (A) WH Oy, g ¢
(C) Society (D) Self (C) ¥ & (D) =7 a_
111. For progress of the teaching profession, 111, T4 U= &@wd A wfy & fag war=
you will give maximum importance (o - HEW WaTH 4T —
(A) Quality classroom teaching (A)  TErEETl Roil fameror
(B) Deaing rescarch work (B) IgaaE S FIA
(C) Writing good books (C) TuH g&rd! & aaA
(D) To quit teaching work D) fm Frd | sEa
112. Teachers and Head of institution are - 112, s U9 997 TUE U6 gEL @ —
(A) Competitars (A) wiowg=T =1 81
(B) Friends (B) f3 &a &)
(C) Co-—workers (C) wegrl &1 21
(D) Op-poncn[s (D) fasrn E}a g|
[EETYTEC-20]|Series-B) Page 19 of 32
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T13. While teaching in the class, if a student 113, Fen W ygrd woa (& U A -
ask_s you a question and the answer lo o1 faraaT o amaa] FeH e &
which you do not know, then what zm.ﬁ &g T H?

would you do?
(A)  Make him sit afier scolding. (A) S wrea faar T el
(B)  Say the question is wrong. (B) WA T T FEDT g9 b 2 @
(C)  Try 10 answer his question as far (C) ST F¥ B QAR I :
v F4 |

as possible.
(D) Promise to answer the next day. (D) Zwy f2 SO qar PT AT Lot

114. ‘For comect communication in the 114, ‘Tz 3 Sfim wwwer ¥g H@YOE t

a3

W
L]

classroom, it 15 essential that your IYET ageR i A Ted Wl T

behaviour should be dramatic’. This T B—

statement is -

(A) Right (B) Wrong (A) @@ (B) eI

(C) Probably (D) Cannot say (C) waa Ted (D) FE TE w5
Wrong

115.  According to you. the teachers should be 115, amv#) wm #, farer &1 w97 W Raren
punctual in school. because -

(A) This is their duly. T wfdy, Ffn 2
(B) If they come on lime, the (A) TE 9% THF B
students will also. (B) @ ©® oM W oA N W W
(C) They are role model of M |
students. (€) A o w9 )
- ::,,;:ﬂ«nmmcmco" (D) T X AT ST 6 &)

116.  As a subject teacher, what the purpose of 116, & Rz s & wy & T N O qud
asking questions in the class? w1 gqT SRy 2y &7
(A) Discusion about (A) T # A e Rar R i)

among students. ] ;
(B) To keep students active and (B) =0 A vl § Afdy T wEw WA

anentive in the class, &g X
(C) For discipline in the class. (©) T & srgame ¥
(D) To improve teaching. (D) fmmr & gur &g

117. The aim of teacher should be - 117. s @ st @ afdy -
{A) To help the students clear their

teaching

Ty (A) orE B afen st T § waETgm
(B) Overall developmemt of the TR

students, (B) w1 #1 wAthm R w)
(C) To develop Skilfull behaviour

in students. (C) vrHl @ ZaER ¥ Hweran @
(D) To teach discrimination (o (D) mamm|

students.

118. Which teaching method would you 118. ¥y wWofrvaa & Rama B T e

adopt to develop creativity? fRfer arenr?
(A) Problem-solving method (A) TFH-wamm AR
(B) Story method (B) e Ay

(C) Lecture method

: (C) = fafy
(DD} Case history method

(D) =ifd gfaera fafer
Page 20 0of 32
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119, For gaining knowledge, a teacher should 119, Srarsty @ f9¢, Jranwans 21 g wifde -~

7 Making Efforts/Zeal (A
akin [ilg& alous

::: Awms (B) wom

(C) Dook collector (C) gET wrETal

(D) Inactive (D) farae . W

120. “School is a ministure form of the 120. “fITTea A & TF VIZ1 9 J

society"”. This statement is - 2 -

(A) Mastly True (A) wifoFar o=

(B) Parially True (By anfh® wem

1) Do (© w@

(D) False (D) FEEm

121. According to you, the fundamental 121. 9P WergaR. UF fwrw @ AfEE R -
quality of a teacher is -

(A) Cheerful nature (A) ETFE w
(B) Auractive dressing (B) S®UT FIDYOT
(C) Good personality (C) g1 Afe
(D) Knowledge of teaching @) Ao R & 3=
methods
122. How can the Comective Method be 122. @ §uRX Ugfd @1 fre war wera R @
encouraged? T 27

(A) Go-faly 4

(B) @3 &9 ¥ IhwA g
(C) By audio - visual aids (C) s =4 &8}
(D) By dramatic way (D) =edE ThE |

123, If all the students are not giving correct 123, a9 =& 3 zfe ¥l BT FO w9@ 76 2
answers in your class, then what will & . @ 39 T wr

you do?
(A) Explain them. (A) = T

i B) U= TEFE ¢ W
(B) Give them homework. ( |
(C} Complain to their parents. (C) == wmn—farar | fremaa =4

(A) By Play-Way method
{B) By Independent study

D) Repeat the lesson in the class. (D) =0 ¥ OTe &Y SENa |
124, T(o :radicTel.c social evils you would - 124. sWIfas qUddl &1 R FA & fog 319 -
(A) Toaware people. (A) T F SOTES H4|
{B) Take resolution. (B) w5 &)
(C) Do nothing. (C) T & T
(D) Bring awareness through @) R TR S A

posters. .
125. Your friend’s son studies in your class, 125. U@ < &1 g o I F godl 2

your behaviour 1owards him will be - IES iy IyE =aER #m -

(A) Disciplined (A) gl

(B) Partial (B) wum i

(C) Just like an ordinary student (C) wm= 9= 1 WY
(D) Likeason (D) g A i

[EETYTEC-20][Series-B] Page 21 0f32
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126. Being a teacher, You will encoura
Student in order 1o -

WA -
(A) Develop the Intelligence e famfa
Quotient (IQ) W b =g ?g
(B) Make them self-dependent (B) wH
(C) Obtain higher education (C) = fren 5ra YA 29
(D) Remain a Bachelor ®) R @ i
127. Why did you decide to bec 1 ?
Wy d ome a 127. 9" uF fherd @ adl qg fa
(A) Tcan eam 2 lot through tuitions. (A) # Tgar IX@ TE 0T T &
(B) 1can teach my own children. B) # 3w w@d B Fedl B T &

(C) 1like teaching very much.
(D) Icannot get any other job,
128. According 1o you, effective te

(C) fawror ol 91 oreufis frm &)
(D) # oy arg e € o aFan|
aching isa 128, 39a weargaR, wTdYr Rmror oiom & —

result of -
(A) Friendly behaviour with (A) orl A By L
students UTETaE] fer g |99
(B) Command over content and ®) e ki 1 =
communication (C) apr = .
(C) Experience
(D) Training (D) wf¥Emr @
129. Individual or Group appreciation in 129, wfaqma ar WS w0 A g B awaa
technical language is called - T § wET W & -
(A) Discipline
A) e
(B) Reward :B: AT
(C) Difference of opinion among (©) BE ¥ Aear
the students ) I TR | e
(D) Helpful in skill management o u e
130. If a child is not socialized, how he 130. afg qram w1 wwrdEr 9 @, @ 78 fhE
would be? TSR & qm? '
(A) Like a beast (A) wyEq
(B) Unsocial (B) HAwmfas
(C) Antisocial (C) srmfars
(D) Fully social (D) e

131. Homework makes the student love self- 131, TedETd BIE F WAy m A T 2 Lis|
learning, but along with it, it - ’

(A) Develops logic and thinking W e onl ¥ -

power among the students. (A) % @ RERr ufw ga= e
(B) Reduces the tendency to roam =

around. B) T B W B T T 2y B
(C) Makes himvher practice the faqrqmﬂ

content knowledge © S T 30T R 2|
(D) Causes tiredness. (D) U I e 2

gethe 126, amy uw foers @ 9 § OTA @ AR

132. Leadership is a special process, for
which two best words are -
(A) Dominating - Subordination
(B) Dominating - Administration
(C) Dominating - Slavery
(D) Dominating - Follow

133. -Evaluation of students becomes essential
for a teacher, because -
(A) The school pays the teacher for
this
(B) This is mentioned in rules and
regulations of the government
(C) Leamning abilities of students
can be known
(D) This maintains Coordination
between leamning abilities and
remedial situations
134. Before entering the class to teach, |
will -
(A) Make my mood cheerful.
() Gaze at my face in the mirror.
(C) Camy the 1eaching aids for
today’s lesson.
(D) Organize my lesson plan.
135. It is very important for leaching
profession -
(A) Constant learning
(B) Higher recommendations
(C) Teaching aptitude
(D) Higher percentage of marks
136. Being a teacher, will you suggest your
son to become a teacher 7
(A) No, because there is nothing in
this profession.
(B) Yes, if he willingly gives his
consent for it.
(C) Cannot say
(D Yes

137. According to you, priority of the need of
improvement in the present education
system is -

(A) Commercialization of
education

(B) Change in evaluation system

(C) More use of computers in
education

(D) Change in the curriculum

132. g v R wfem an am b R fag
T g TS § ud E -
(A) W@ ~ ST
n) ﬂ'ﬂﬂ—m

(C) W — T

m)mmqﬁwm-

134, e A fmer &g wiw E @ gl § -
(A) I & ww=Ed FS)
B) Tdv F e Jew FErdT
(C) ¥ @ dre @ e wewd |l
Y A SR |
(D) 9T wISa o waferd H& |

135. fme arqaE & Y aeT Feel & —
(A) argg-Teida
(B) 4 fawf
(C) fimroy sferan
(D) IFH &1 I=a wiowrd

136. U fiEs 89 & A1, T 39 W9 g3 @6l
g @9 ¥ HEA?
(A) & =y 9w waww 3 gg 7@
Rsci |
(B) ¥, @t g¢ W= 4 39s fav g9
Brar 8|
(C) e 38 wad |
Mm) =
137, 9 WG #, oA R wewn § guR @
HqTgEar & WAEHEAr € —
(A) fem &1 amade

, (B) T =R R WAR
(C) fim & Fraqer & WS wan
(D) UEUHH ¥ a4

[EETYTEC-20](Series-B] Page 22 of 32
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138. The foundation of leadership is -

138. ﬁqwmgﬁmﬂmmmt—

(A) Apprcciuuun (A) oIl

(B) Desire 10 serve (B) dq1 7 T

(C) Welfare of the group (C) wE @ fa

(D) Nothing can be said (D) o T T sl

139. Social matunity means -
(A) Ripening of the child like a

fruin (A)
(B} Development of wisdom in the ®)
child. (&)

(C) Development of social
efficiencies in the child.

(D) Presentation of a balanced (D)
social behaviour by the child,
like amongst adults.,

140. Basc agency of social development 140, Tod—afermst & wefvs fwwE @
Wmﬁm?—

among boys and girls is -

(A) School (A)
(B) Paremts and family (B)
(C) Community (©)

(D) Means of comi icati
munication ()

141 If a stdent tells you about any family 141. uf2 va Rarfl srewr st wRaR®E wwwn
@ art § goran & @ oy T Y

problems. what wall you do?

(A) Listen to his/her problem and (A)
suggest possible solutions.
(B) Listen to hissher problem and (B)

give moral support.
(C) Ask him 1o discuss only study

related problems, “
(D) Ask him nol 1o discuss family
problems. ®)

139, i wRgaaat &1 od & —

e F1 B B AR 9B
a3 RYE & R Bl
aFE ¥ Amfas qiﬂﬂmﬁ @1
e 8|

—C - - (O
Hrfoie @rdER 1 WeYH &l

faarea
wr-fren o@ afEar
Rk Gl
FEroy & e

SHA wEEn gat o 99 W
I I |

sad W g v S AR
wad 3|

IY Pad YeTd A wEd HEEm @
ot A & fag =)

= uRafls wwem & "= T8
A & g w2 r

142.  According 10 you, it is required in order 142 3MUd FATFAR, WE ¥ AT § —

10 learn - (A)
{A) Motivation by the teacher

AT §RT HIeAEA

B) C i (B) WM WEH
(C) Curosity (€) forsman
(D) Reading Habit (D) A F amga
143. According to you, education develops - 143, anu@t v #, fimn | sl Bl ¢ —
(A) Intellectualism (A) dfgEm
(B) Abilities (B) wraand.
(C) Maturity (C) ufmomm
(D) None of these (D) 1 # & 78
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144. To develop the qualities of a good 144,

leader, the most impornant role is of -
{A) Political platform
(B)Y School
(C) Famly
(D)} Movic theatre

145. Teaching is an interacting process -
(A) Between teacher and parents
(B) Between student and teacher
(C) Among students

(D) Among teacher, students and

content

146. According to you, the base of 146. ST

inter-personal relation is -
(A) Equality of thoughts
(B) Regionalism
(C) Education
(D) Money

147. The base of a child is formed by primary 147.

level teacher. Thus his job is -
(A) Crucial
(B) Easy
(C) Difficult
(D) Important

148. In order to develop logical ability and
creative thinking among students, the

teacher should do -
(A) Group discussion
(B) Seminar
(C) Decbate
(D) Give lecture to the students

149. According to you, what is required for a 149.

good teacher?

(A} Popularity among the colleagues

(B) Commitment towards
teaching profession

(C) To be an effective explorer

(D) Faith towards one’s
institution

145, feem q@ arvaRe feaw € -
(A) Fres a s & =1
(B) o T fims & 7=
(C) BrAd T 7=
(D) Fowrw, OTE Sk Rwaeg & 7

w B seiofye wEE W IER
(A) FEmt @ FEEar

(B) &=

(C) five=

(D) T — g

armE § A auatE ¥R F FEs 5
AT O &1 ¥ IEm FE &

(A) Pmias

(B) =

(C) &fed

(D) mEgel

148. Rreffdl § Afes draeRl U@ SEAed
a1 Aew o &g Bt @1 @
HAT TR

(A) we S

(B) ¥EMAR

(C) we-fm=

(D) ©TH T ¥IEF ST

T W A, e w= fww @ faT o=@
FTEEe 27

(A) T Fe-oiEEl A Sehyd

(B) femr 1 & iy sfoeg

(C) Tx ward] &S 8

(D) ¥ wen & wi F

150. Which of the following personal 150. e A @ Rps @ o ® Aol T e

qualities of a teacher. do affect teaching?

(A) Sensitivity

(B) Social skills

(C) Physical Strength
(D) Management abilities

T waifag FRg &7
(A) wagAEIEar

(By TS I
(Cy WRE ¥
(D) ua= &HaA
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Part-D / qm1-7

s E 161. Identify the kind of sentence —
LANGUAGE PROFICIENCY-ENGLISH / 5y @y : i What 2 fool you are!
Attempt all questions, choose the appropriate option from the ones given after each question - (A) Asscriive Sentence (B) Interrogative Sentence
151. Fill in the Blank using correct word — {C) Exclamatory Sentence (D) Imperative Sentence
He ............. swim when he was young, 162. Change to direct speech -
:2 : mlﬂ;l (B) would He asked who lived next door.
co (D) None of these . “ o
. “Who liv door”™ H d, “Who lived next door?
152, What she said agrees ... .. what I have already heard. (Preposition) @ sewhe fves pext . H‘ a:d. “Wh l]' ed a
- had ] d, “ ved nexl -
(A) from (B) with (©€) of ™ at (C) He asks, “Who lives next door. D ¢ sa o lx door
153.  Choose the comrect synonym — 163.  Chooss Ule womt Miat isspelt ety
Abandon (A) comittee (B) balloon
(A) forsake (B) receive (C) succesive (D) fullfill .
(©) gife @) grieve Directions: (Q.164 to Q.168): Read the passage and answer the questions that follow —
154, Choose one word for the following phrase — A linle man beside me was ruring over the pages of a2 magazine quickly and mwr_»b'-
"Someone appointed by two parties 1o settle a dispute’, Opposite me there was a young mother who was rying to restrain ber son from making a noise.
(A)  Negotiator (B) Arbiter The boy had obviously grown weary of waiting. He had placed an ash tray on the floor and was
(C) Mediator (D) Middleman making Aeroplane noises as he waved a pencil 1n his hands. Near him. an old man was fast
155, Change the following into Indirect Speech — asleep, snoring quickly to himself and the boy's mother was afraid that sooner or later her son
She said, "My father will help me,” would wake the gentleman op.
(A) She said that my father will help (B) She said that her father would help her. 164. What was the old man doing?
me.
x : A) Sleepin ) Looking at the child
(C)  She said that her father will help (D) She said that my father would help her. l .P . s ] " .
her, (C) Eating (D) Reading magarine
156.  Choose the correct anticle — 165. What is meant by ‘restrain” in the passage?
Edward saidhe is ...._......... European. 1 i
1k e 1 (A) conto (B) encourage (C) ire (D} rebuke
(C) a (D) None of the above A 166. The person who was least disturbed wasthe ... .. .
157. Choose the correctly spelt word — ‘ (A) observer (B) son
(A) Perceive (B) Parceive {C) old man (D) lrle man
(C) Percieve (D) Perceave 167. Thenoise wasmade by ...,
158. ;‘-}’:;ch Plrtdu:';:;; ;t;clt::e has error in it? (A) the old man (B) the Aeroplane
rise an o efare due/io lunar influence. |
(A) The rise and fall (B) of the tide (C) the little man (D) the boy
168, The factor common to all the people was that thew |
(C) are due (D) 1o lunar influence @ N Y )
159. Choose the NP9 —— watching a film (B) wainng for something
correct Y the word ‘Malice (©) looking at the lhale boy's (D) reading magazine
(A) Honour (B) Ecstasy playfulness
(C) Goodwill (D) Happiness 169. Menfear ...................death
160. An averapecow ................ one thousand four hundred ponds, (A} a (BY an (C) the (D) noarticle
(A) weighs (B) weigh 170, 1bought this watch ................ two thousand rupees.
(C) weighed D) will weigh | (A) in (B) with (Cy for D) at
[EETYTEC-20](Series-B] Page 26 of 32 T |
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171.

172

173

174.

175.

176.

177.

178.

179.

180.

181,

182.

183,

AT-7
s e ;)

@) by + R + anf = sifvanf
(D) m+ﬂ+w+w=mﬂ‘m

amm a1 -

A) W+ A+ amm = afw
(© [+ ®+ 3= Hew
T W A e wew e §?

(A) T (B) ¥TA (€ @A (p) @
A= A { v v fewe @ guirored T 8?7

(A) e @) frfa (© Pifte ) P
fo T WA Ao A, W A Wi we w1 aE w9 e -

(A) aE@T@m  (B) awOm (€) e (D) TEUTH
wftg vvre ME © a9 § -

(A) YREUT (B) wEg

() sy Wrem m i } o T

of2 TR SR HTH TR, o WHA W SR [, qEg 6 AR ey -

(A) WNRW A (B) A 3 (C) e A m) i @
Prafftaa & | oogey TR B IIEET @ -

(A) memera (B) aumf () whftm (D) TR
v W fEm me # -

(A) fwa (B) frta () frie o F
WA A I PR & w6 ol @ -

(A) TIOGERT IMET (B) =R M

(C) H= aw] A R o7 B (D) Hifta v

siftr =1 qafg 98 & -

(A) WL (B) wa® (c) ufE= (D) Tmg
FTM FEREUT IS TR BT IETER A @7

(A) waTn (B) T (C) =u (D) T
faa fAweg 3 ¥0 wwag o WU T geT 87

(A) uIvrE @) farvm (C) =rdl (D) wHadm™

wE wEA, 2 TARE & 3 B —
(A) T gl &1 TE € (B) wmea ¥ nfdm 8d 2
(C) T8 <1 3 ¥ g & (D) ¥ETH T WIS A T T |

ag eftrar S By A gt gardn wan &, aEarn @ fav o ne § -
(A) = (B) wea (C) T (D) um

.y weE & aed B -

(A) frmam & (B) fiw-3fea (C) fan ufz & D)

. A & fav s e @ el # s gig -

(A) fr@ wa fm 7 @ = #a

(B) foraan g aga a1 o © = AwEw
(C) [ v & ardl o e = REE
(D) o AW A9 uRe FR Fa ¢ = oA

frean w1

O o S =—

e Y R s A g AR -
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187,

(A) freh ofv o @ wawet #fdrg)

(" wmmnﬁma@ﬁ\aﬁn

(C) w1 T Ay gdeand &1

(D) ¥ A B e @ e K
188. "arane’ w1 Wi e g -

(A) T+ W@ (B) T + A (C) QI + WA (D) I+ T
189. ‘ArEmer = A @n w87

(A) TR (B) Teqe (©) Wfﬂ’l‘m (D) &8
190, W =1 wifem e € -

(A) i @) FhRad (C) wafad (D) wiRfED
191, T @ faw e e @ et § wra @ gfe-

(A) o dum ot 7 B — fI

@) W o B a@ gern @ - Sfara

(€) Rwra 2wt § Pret 8 - wnfie

(D) < ared T N gEe g B — ol
192. fm= v A s o = &7

(A) argmiia (B) arpafea (C) arfea (D)  IgTEda
193. fore A A 3R @ Ay ¥ 7 e 1 T@a S -

(A) R + PR = TR B) W+ wOd = Woad

(C) T + arart = gareTd ™ @& + =R =g
194. fu R § g W@ T WA dfga w9 4 g B? -

(A) Wil b fafaa (C) wfa (D) gfaa
195, o @ o & — .

(A) arFTEd (B) T& I ware

(C) 3@ o Y& aren (D) aadt 9 TTen
196. Py=fafaa % s v By swad @ 78 T

A = B) frate (©) fa D) s
197. Y& W= T TG BT —

(A) difsa ®) Rt (C) urTEe Dy faRrh
198. &% wE @ A3 @ ol ¥ st g - .

(A) TM-TET = TR &F&- (B) ToTHA = Iwfas ¢

(C) ITER = TR &5 (D) TE-TEM = WAER BH
199, ‘3 A Fo’ gET w Wl anef @ — <

A o = o snpen TRy s g g

(B) &Y aremawen &

(C) y&HEA |9

(D) W A 8 W IW TR] B ITFR T@rn
200. Fr= 9 @ ®F e 9l et @ T @2

(A) uRfr (B) WrHTS (C) weion ) i
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AT 186. ‘aea wEw wfyu R & af?

RAEUELER L Sy (A) T +T@  (B) T + T (€) 7+ (D) W+ @

171. € qTEE T HqO — ) 187. TREwfteeny @ & e, sfta?
&) R T T ® mmﬁ” (A) T Teger B) et e

17 s:mgmgamm:wﬁﬂ - > (C) ") degen (D) Tl Ty
(A) T W s R B) g e e f 188, e FwmmeeRm wafy -
(©) v e smme fan ) g wE s fl (A) g (B) T (€ (D) sl

e ?:T ::W Lo Tag:ﬁ w7 © & () = 189. amifafady v aremmia — .

174, T FYET TR — (A) WM AT (B) Y\ SgEATEIIAEd
(A) T T T ®) = g Rafd () s e WL 0 MESRREEg
(C) e TS o @) W TS B 190, Wi e (9 v aETEd T W —

175, 97T TR wgdl teaea 6 e - ) (A) wdum (B) watamy (C) Wty (D) w33
(A) T (B) A (©) T (D) 191, @ + faf g frr= afugesfia —

176, ‘sTOTd Tew W fagewa wanfE — (A) agfaafy  (B) afesafy (€) afteafa ) wfizaf
(A) sardt (B) SmETai (C) aemat: (D) iz 192. f urr @lg TER FENIEY JgTaTE HUERG —

177. Sumstsen fauras gEia? (A) ¥ada (B) aq (C) wfoars (D) ¥aar
:g: ﬁwm $} ﬁww 193, a9 IR &R Wan swexe aeae Yariga gee & fagsiE?

178. ¢ TV SERURIERE — (A) gfeesm B) wfagy (C) TgawieTRA () fEg
(A) T2 (B) o (C) Tvoary (D) = 194, wfam — Sftra — wRda sty 1y & g ?

179. ToT% E A SR TW F wdAw IR (A) ey (B) da=q vom (C) Tq weum (D) =@a W
(A) =& ®) TE (© A o) 3w 195. Y’ v wReq g smafa?

180. W= gEw rwfy ofeE T T o @ e sfa? (A) gfeem (B) TgE&fent (C) Ehismr (D)  =wafEs
(A) & (B) Tt (C) =i (D) T 196. W' W= gataard) & s

181. fy =g fydants & af¥r? (A) T (B) ¥=HT (©) B D B
(A) ¥ @B) frm (C) e D) wEd 197. %+ 99 + U3 oa f% w9 mfa?

182, 3 il AE @R RuRgeiEaei — (A) womTE. (B) wefrr () o iy e
(A) I (B) 3w (€) Ima (D) 3r7aq 198. “ORwEy TrE RIS —

183. 37 + U3 oy FoWeATE €4 gafy — _ W) wgdl wgeyr (B) Rfw amger (€ vt ooger (D) W wege
(A) Mo (B) 3= (C) FmUEwm D) A 199. e w=) I<Evmie —

184, zuEifafaay RetadvesmEia - (A) W (B) wafd © e D) e
(A) @A (B) =ar A (C) =i (D) ROy 200. “EEEry W werm: sfe —

185. U= =W w wfufres s {A) T (B) daq (C) @y (D) T
(A) 39 + T= (B) wo1 + 5= (C) =9 + = m 9T 4+
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